FAeZ ( F P # 113/03/18)

B | BRE | e | &Y # P Fu | A& K
08:30 H i=4r 5
1 10920 | 5 + % T11 1500 = = A 1 1
2 | 0920 | §F% | TI12 1500 = = A 1 1
3 10920 | §+%| T20 1500 = = A 1 1
4 10920 | 9 +%=2=| T37 1500 = = A F 1 1
5 10920 | §+3% | T38 1500 = = A 1 1
6 | 0930 | §+%& | F32 43 (2.00kg) g 1 1
7 10930 | §F%&| F34 &-3% (4.00kg) A F 1 1
8 | 0930 | §+%= | F53 4.7 (3.00kQ) - 1 1
9 | 09:30 | §+%| F54 5.3% (4.00kQ) - 3 2
10 | 09:30 | ¥ + & | F55 5.3 (4.00kQ) - 5 3
11 | 09:30 | § + %= | F56 4138 (4.00kg) A F 2 1
12 | 09:30 | § &+ %= | F57 5538 (4.00kQ) - 2 1
13 | 09:35 | §+ %2 | T34 800 = = A 1 1
14 | 09:45 | * =+ %= | T33 100 = = A 2 1
15 1 09145 | § + & | T34 100 = = - 1 1
16 | 09:45 | *+ & | T54 100 = = A 1 1
17 | 09:48 | *+ %= | T35 100 = = A 1 1
18 | 09:48 | *+ %= | T37 100 = = A 1 1
19 | 09:51 | §+ % | T35 100 = = A 5 3
20 | 0954 | § 3% | T36 100 = = A 2 1
21 | 0954 | § %% | T37 100 = & pES % 2 1
22 | 0954 | ¥+ % | T38 100 = = A 1 1
23 | 0957 | §+%2 | T11 100 = & pES 2’: 1 1
24 | 0957 | ¥+ & | TI12 100 = = A 1 1
25 | 10:00 | ¥ #+ =& | T13 100 = = A 3 2
26 | 10:03 | * + & T12 100 = & ;‘i—%ﬁé 2 1
27 | 10:03 | *+ %= | TI13 100 = = - 1 1
28 | 10115 | § 32 | F11 478 (7.26kg) s B 1
29 | 10:15 | *+ 2= | F12 438 (4.00kg) A 2 1
30 | 10:15 | *+ &= | F37 5.3% (3.00kQ) i F 1 1
31 | 10140 | § + %2 | F35 5.3% (4.00kg) A 5 3
32 | 1040 | ¥ + %= | F36 53k (4.00kg) A 2 1
33 | 10140 | § & | F37 478 (5.00kg) AR |1 1
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¥ FR A ] I P Ful | Adk| Pk
34 | 10145 | ¥+ & | F31 #ir e (397gr) A g 2 1
35 | 1045 | ¥+ &2 | F32 #ir 4% (397¢r) H-F 1 1
36 | 10145 | ¥+ %2 | F51 #x 4% (3979r) AT 2 1
37 | 10145 | *+ & F32 x4 (3979r) ;‘i—;ﬁé 1 1
38 | 10:45 | *+ %= | F33 4-3% (3.00kg) g 1 1
39 | 10145 | *+ = | F34 413% (3.00kg) A 1 1
40 | 10:45 | + 3+ = | F55 43¢ (3.00kg) B 1
41 | 1045 |~ 3 = | F55 4 44 (1.00kg) AF |1 1
42 | 1045 | *+ 2 | F34 #%1£ (600gr) A 1 1
43 | 10:45 | *+ = | Fb5 %1 (600gr) A 2 1
44 | 11:45 | *++ 2= | TI13 200 = & ;‘i—% 1 1
45 | 1145 | *+ %= | T35 200 = = ;‘i—% 1 1
46 | 11550 | § + &= | T35 200 = = ;‘i—% 5 3
47 | 1155 | § + &= | T37 200 = = ;‘i—% 2 1
¢ R
48 [ 1315 | §+ = | T11 B i A | 1 1
49 | 13:15 | ¥ 5 & | T13 B i A% | 3 5
50 | 13:15 | *+ & | T12 B 3% A 1 1
51 | 13:15 | 9 5 = | F34 {24 (600gr) AF | 2 1
52 | 13:15 | ¥ + %= | F52 #%1£ (600gr) A 1 1
53 | 13:15 | §+ = | F53 %1 (600gr) A% 1 1
54 | 13:15 | § &+ & F54 %1 (600gr) ;‘i—;} 3 2
55 | 13:15 | ¥ 5 = | F55 %4 (600gr) x| 4 3
56 | 13:15 | ¥ + %= | F56 1&-1£ (600gr) A% 2 1
57 | 13:15 | ¥ + %= | F57 #%1£ (600gr) A 2 1
58 | 13:15 | ¥+ &= | T11 400 = = ;‘i—% 1 1
59 | 13:15 | § + %= | T13 400 = ® ;‘i—% 1 1
60 | 13:20 | ¥ + & T20 400 = & A % 1 1
61 | 13:20 | §F %2 | p B 400 = = ;‘i—% 1 1
62 | 13:25 | § + %= | T36 400 = ® ;‘i—% 1 1
63 | 13:25 | ¥ + & | T37 400 = = ;‘i—% 1 1
64 | 13:25 | § + %= | T38 400 = = e % 1 1
65 | 13:30 | *+ & | T20 400 = = ;‘i—% 2 1
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x| PR KR Bon| 3P Bl | | B
66 | 1345 | ¥+ &= | F11 4844 (2.00kg) - 2 1
67 | 13:45 | § 5+ & | F37 4% 44 (1.00kg) AR |2 1
68 | 14:.00 | *+ = | T20 BB T 5 3
69 | 14:.00 | ¥+ =& | T20 B ig i F 2 1
70 | 1400 | §F & | P BFR BB g 1 1
71 | 1400 | ¥+ =& | T36 BB i 1 1
72 | 14:.00 | ¥ + & T37 B iR ;‘i—% 1 1
73 | 1415 | ¥+ =& | F51 4% 44 (1.00kg) - 2 1
74 | 1415 | ¥+ &= | F52 444 (1.00kg) - 1 1
75 | 14:15 | § 3 & | F54 4% 44 (1.00kg) AR |3 2
76 | 14:15 | § + %2 | F55 4% 44 (1.00kg) o 5 3
77 | 14:15 | 3 3 & | F56 4% 44 (1.00kg) AR |2 1
78 | 14:15 | ¥+ & | Fi11 #%1£ (800gr) A 1 1
79 | 14:15 | ¥ 3 &= | F13 #-1£ (800gr) AR 2 2
80 | 14:15 | *+ &= | F12 %1 (600gr) A 1 1
81 | 1430 | ¥+ =& | T11 5000 = = o 1 1
82 | 1445 | *+ = | F20 43k (4.00kg) - 5 3
83 | 1445 | § + % | F20 b3k (7.26kQ) A 2 1
84 | 1445 | 3 3 | p PR 478 (7.26kg) AR |1 1

LI EFEPWFED 30443 RS mdr
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